

Subject:

مسائل

Page: ()

Year: Month: Day:

$$g'(u) = r \tan u (1 + \tan u) - \sqrt{r} \sin u f'(u) \quad -1$$

$$g'(u) = \cancel{r \tan u} (1 + \tan \frac{\pi}{2}) - \sqrt{r} \times \frac{\sqrt{r}}{r} \times f'(\frac{\pi}{2})$$

$$\sqrt{r} = \epsilon - f'(\frac{\pi}{2}) \quad f'(\frac{\pi}{2}) = \epsilon - \sqrt{r}$$

$$f(u) = \frac{1 + \cos u}{\epsilon - \cos u} = \frac{r - r \cos u + \cos u}{r - \cos u} \quad -r$$

$$\frac{r - r \cos u + \cos u}{r - \cos u} - r \left(\frac{r}{r - \cos u} \right) = \frac{-\cos u (r - \cos u)}{r - \cos u} = -\cos u$$

$$f - ry = -\cos u \Rightarrow f' - rg' = +\sin u \quad \sin \frac{\pi}{2} = \frac{-1}{r}$$

$$\frac{r}{\epsilon} + \rightarrow (\epsilon u - r) \sqrt{au} \quad \frac{r}{\epsilon} \rightarrow -(\epsilon u - r) \sqrt{au} \quad -r$$

$$(\epsilon u - r) \sqrt{au} = \epsilon \sqrt{au} \quad = -\epsilon \sqrt{au}$$

$$\epsilon \sqrt{au} = (\epsilon \sqrt{au}) = \frac{\epsilon \cdot \sqrt{au}}{\epsilon} = \sqrt{4}$$

$$r \sqrt{a} = \sqrt{4} = a = \frac{\sqrt{r}}{r}$$

$$y = -au + r \quad f(\epsilon) + f'(\epsilon) = -1 \quad -\epsilon$$

$$-\epsilon a + r - a = -1$$

$$-\omega a + r = -1 \quad -da = -r$$

$$\Rightarrow y = -\frac{r}{\omega} u + r \quad a = \frac{r}{\omega}$$

$$f'(u) = -\frac{r}{\omega}$$

$$\frac{a_{n+1}}{r_{n+1}} = \frac{u_{n+1}}{r} \Rightarrow \frac{u_{n+1} - (r_{n+1} + 4u_n)}{r_{n+1}}$$

$$u_{n+1} - r_{n+1} - 4u_n = 0 \Rightarrow$$

$$-r_{n+1} - 4u_n + u_{n+1} = 0 \Rightarrow \Delta = 0 \Rightarrow$$

$$b^T - \sum a_i c_i \Rightarrow b^T - \sum x_i - r_x - 12 = 0$$

$$b^T = 4 + 12 \Rightarrow b = 4 + 12$$

$$b = 12 \Rightarrow a = \sum \Rightarrow n = 2 \quad \text{OOO}$$

$$\text{if } b = 12 \quad a = \frac{\sum}{r} \Rightarrow \frac{a - r}{r} = \frac{\sum}{r} - 1 = \frac{-11}{r}$$

$$f'(u) = r_{n+1} + a \Rightarrow$$

$$f'(r) = 12 + a = 0 \Rightarrow a = -12$$

$$f(r) = 0 \Rightarrow 1 + 12 - b = 0 \Rightarrow b = -14$$

$$b - a = -14 - (-12) = -2$$

$$\sin^n(w) = \frac{u^n}{r^n} \quad n \cdot v \quad \checkmark$$

$$\frac{r^n \cdot r^n \cdot (n-1)}{(1 - (1 - \frac{u^n}{r^n})^n)^m} = r^n \cdot u^n \cdot (n-1) \Rightarrow \frac{(u^n)^m}{r^n}$$

$$r^m \times r^n \times u^{n-1} = \frac{u^n}{r^n}$$

$$r^m = r^{n-1} \quad r^n = r^{m+1} \quad n = \frac{r^{m+1}}{r^m} = r$$

$$r^m \times r^{m+1} = u \cdot r = r^{\frac{m}{r}} (r^{m+1}) = u \cdot r$$

$$r^m = u \quad u = r^{n-1} \Rightarrow n = r \quad r^{m+n} = u + r = 9 \quad \text{if } m = \frac{u}{r} \checkmark$$

$$f(u) = \frac{(\sqrt{u+1})}{\sqrt{u-1}} = \frac{1}{\sqrt{u}} (\sqrt{u+1}) - \frac{1}{\sqrt{u}} (\sqrt{u+1})$$

$$= \frac{1}{\sqrt{u}} (\sqrt{u+1} - \sqrt{u-1})$$

$$= \frac{1}{\sqrt{u}} (\sqrt{u+1} - \sqrt{u-1})$$

$$-1 \Rightarrow (1+u)^r (1-a) = 1(1-a)$$

$$0 \rightarrow 1(1) = 1 \quad 1 - na$$

$$1 - na + na = 1 \Rightarrow na = -1 \quad \text{as } a = -\frac{1}{n}$$

$$\frac{f(0) - f(-1)}{0 - (-1)} = -1 \Rightarrow f(u) = (u+1)^r \left(\frac{1}{r}u + 1\right)$$

$$f'(u) = r \times (u+1)^{r-1} \left(\frac{1}{r}u + 1\right) + (u+1)^r \left(\frac{1}{r}\right)$$

$$r \times \frac{1}{r} \times 1 = 1 \quad + \quad \frac{-1}{r} \times 1 = 1 - \frac{1}{r} = 1$$

$$\frac{f(\frac{\pi}{r}) - f(\frac{\pi}{\epsilon})}{\frac{\pi}{r} - \frac{\pi}{\epsilon}} = \frac{\sin \frac{\pi}{r} \cos \pi - \sin \frac{\pi}{\epsilon} \cos \frac{\pi}{r}}{\frac{\pi}{r} - \frac{\pi}{\epsilon}}$$

$$= \frac{-1}{\frac{\pi}{\epsilon}} = \frac{-\epsilon}{\pi}$$

$$g(u) = (\sin^r a + \cos^r a)(\sin^r a - \cos^r a) = -\epsilon$$

$$\frac{g(\frac{\pi}{r}) - g(\frac{\pi}{\epsilon})}{\frac{\pi}{\epsilon}} = \frac{1 - 0}{\frac{\pi}{\epsilon}} = \frac{\epsilon}{\pi} = -\epsilon$$

$$\frac{\frac{\epsilon}{\pi}}{\frac{\epsilon}{\pi}} = -1$$